GEO

JAC At
“Total No. of Pages : 35
g-@"[ & F G&T ¢ 35
FREuE fefe uftag
ANNUAL INTERMEDIATE EXAMINATION - 2024

GEOGRAPHY
( Optional )

Total Time : 3 Hours 15 minute ' Full Marks : 70
ga@md:  3W 15fFe gpﬁa; . 170
General Instructions / dam= fAdyr ;
1. This Question Booklet has two Parts — Part-A and Part-B.

T WRA-G § QW — A aon WL §)

2. Part-A is of MCQ Type having 25 marks and Part-B is of Subjective

Type having 45 marks.

WRT-A # 25 3% & Fgfawheda J74 791 WeT-B § 45 3% & favafis w7 2

3. The candidate has to answer in the Answer Booklet which wiil be

provided separately.
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Part-A — There arc 25 Multiplc Choice Questions having four (4)
Options (A, B, C & D ). The candidate has Lo writc the correct oplion
| in the Answer Booklet, All questions are compulsory. Each question
carries 1 mark. There IS no negétive marking for wrong answer,

W-A—sﬂﬁ 25 sgfawedia w1 § R 4 e (A, B, Cawr D) §
el R Sw-ger § w I e 21 @ v S 1 e

1 3% 1 8| ol IR F o S8 37 w1 78 e
Part-B — There are three sections : Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short

Answer & Long Answer Type questions. Total number of questions

i1s 23.

Section-A — Question Nos. 26-34 are Very Short Answer Type.
Answer any 7 questions. Each question carries

1 mark.

Section-B — Question Nos. 35-42 are Short Answer Type. Answer
any 6 questions. Each question carries 3 marks.

Answer the questions in maximum 150 words each.

TLV(XII)-47076 XA-GEO-(OPT.)-A 2/ 35




JAC '

Section-C — Question Nos. 43-48 arc Long Answer Typc. Answer

any 4 questions. Each qucstion carrics 5 marks.

Answer the questions in maximum 250 words cach.

W—B%?@mﬂﬁ?ﬁq@v@—@v@m,ﬂamc%lsﬂmﬂﬁﬂﬁ’ﬂ‘l
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6. Candidates are required to answer in their own words as far as

. practicable.

wiierefl gy 39 wegi A B/ W <
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Draw ncat and clear diagrams wherever nceessary.

ST TIYTS B WS U Wy REhs a9

8. Candidate has to hand over his/hér Answer Booklet ‘to the

Invigilator compulsorily before leaving the examination hall.
Temell wen st DA F wge s -y Aerw F SRET w9 @
Fterd |

9. Candidates can take away the Question Booklet after completion of

the Examination.
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Part-A

HI-A

( Multiple Choice Type Questions )

( agforeredta wed )

Question Nos. 1 to 25 arc Multiple Choicc Type. Each qucstion has
four options. Sclect the correct option and wrilc it in the Answer Sheet.
Each question carries 1 mark. 1 x 25.= 25
v HE 19 2sﬁmm§|u@$uﬁ%wﬁw%m‘aﬁm
wwg@wﬁ%@luﬁ%m 1 3i% &1 B
1. . Who wrote 'Anthropogeography' ?
(A) Vidal de la Blache \/PE}/‘ Friedrich Ratzel

(C) Jean Brunhes (D) Humboldt
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(A) fag@ & e s
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(C) A wH
(D) T

(A) Crude fertility rate

(B) Infant mortality rate

\/‘L}/ Crudc death rate

(D) Life expectancy
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What is the annual number of deaths per 1000 pcople called ?
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B) Ry ®
}_(94 Iy gy
(D)  Sfta T

3. - What type of farming is practiscd in the denscly populated rcgions

in the world ?

(A) Commercial farming

(B) Extensive farming

(C) Intensive subsistent farming

(D)  Plantation [arming
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4. Which of the following is the most superior type of coal ?
(A) Anthracite (B): Bituminous
(C) Lignite (D) Peat

frfaRaa § SH-T1 SR 1 Faod e 8 ?

4

- uF Q@W B) fagfima

(c) femmse (D) e
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Pampas Grassland is found in

(A} Alrica

(B)  North America

(C) South America

(D)  Australia

(A)  FHIHI H

(D) sFreforn
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6. Smallest unit of manufacturing is
(A)  Small scale industrics
(B) Cottage industries
(C) Large scale industries

(D) None of these

fafmtor <t ve@ oI 5918 2

(?f FIR A
(C) w2 Yum & 3Tm
(D) ¥ @ & T
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Activities which do not producc or manufacture inished goods arc

(A)  Primary activities
(B) Tertiary activities
(C) Quaternary activitics

(D) Both (B) and (C)

3 Rearey Rt faR Sl o Seared 9 Pfor 78 @ 2, 8 2

(B) qdiu fshamheiT
() =qde fparehatry
1 (B) IR (C) ARl
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Tourism is an examplc of
(A)  Primary activitics
(B)  Sccondary activities
(C) Tertiary activities

(D}  Quaternary activities

e IEE B

(A)  wufie fsRarmami &1
.(B) fereftares fopareneml <
/(Qf T fraremeral =1

(9}(' wqies fRmRel &
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NH-44 is connccting

(A) Srinagar to Kanyakumari
(B) Silchar to Porbandar

(C) Patna to Ranchi

(D)  Kolkata to Delhi
g Tommt 44 Gh?;m 2
Sy/ R o FHATHEE Bl
(B) TherR @ dEet W

(C) YAl | T =l

(D) wrerr & g #
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10, The Suez canal joins

(A) Mcditerranean Scea - Black Sca
(B)  Black Sca - Red Sca

(C)  Mcditerrancan Sca - Red Sca

(D)  Mecediterrancan Sca — Arabian Sca
(SEERESIESE

(A “HTIETR - S §UR $

4

(B) I PR - #TA PR

.

s

% YHETEN - 16T G &

(D) ELIETR - 30 TR i
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I‘ in which year did India obtain internet facility ?
(A) 1995 (B) 1998
() 1999 (D) 2000
Rt T R ke ) e e o 7
By 1995 : (1?\/ .1998
(C) 1999 (D) 2000
12: Which of the following is an ancient town ?
(A) Patna . (B) Ranchi
(C) | Mumbai (D)  Durgapur
fiea 3 & s T AT 2 7
Jp o T (B) U=

.ﬁiraﬁ"é o (D) IR
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13. Tea production region is
(A)  Darjecling
(B) Jalpaiguri
(C) Cooch Behar

- (D) All of these

I IYTEH 9T 8
(y« gristfern
(B) e
(C) FEieER
7 B CE R
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1. Which type of crops is grown under dryland farming ?

Sugarcanc

o6 N i F il fee wor &) wadd 3 e 7

(A) NI (B), I

(F (ps{'zm
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15. Which of the following programmes is/are associated .with the

watershed development project ?

(A) Haryali Project

(B) Neeru-Meeru

(C) Arvary Pani Sansad

(D)  All of these
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(B) fw-dks

(C) 3WE arit Hag

(D),/ % | 8t

Noamundi and Gua mines are located in which state of India ?

(A)  Odisha

(B) Chhattisgarh

(C) Jharkhand

(D) Karnataka

TLV(XII)-47076 XA-GEO-(OPT.)-A 18 / 35




(A)  ffsEm
pr o
pi s
(D) Al

17.  Hazira-Vijaipur-Jagdishpur is-associated with
(A)  Gas pipeline

(B) Oil refineries

*(C)  Atomic energy centre

(D) Coal mines

[TLV(X11)-47076
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18. Bokaro Steel Plant was established with the help of whicl

éountry ?

(A]  Soviet Union
(B) America

(C}) Germany

(D)  Great Britain
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()
(D) e fsem

19. Which city is known as the 'Manchester of South India' ?

(A) Coimbatore
(B) Mysorc
(C) Madurai

(D) Salem
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20. Which type of settlement is found on the moqntainous regions ?
~(A)  Circular
(B) Terraced

(C) Rectangular

(D) None of these
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(A) TR
o

(C) AT

(D) ¥ A B

'1. How many states are there in India ?

(A) 28 (B) 29
(C) 30 | D 32
ure A fpen osa € 7

g s B 2

(©) 30 ' (D) 32

e —
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22, The number of pcople in differcnt age-gmuPS Is T

(f\] Scx ratio

(B) Agc composition

(C) Adolcscent population

(D)  Occupational structure

fyfirr 31y gl & vt Y G & wE s 2
@ ferm - 3rgama

g o

(c) feR SwEEn

(D) SATEHIAE QAT
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3. Hcadquarters of OPEC i« :
1S in
(A) Vienna
(B) Jakartg

(C) Geneva

(D) Belarus
3 1 e 2
(M rﬁw g

(B) Sehral |

/(ff)‘ﬁﬁmﬁ,

(D) qATEH T

[TLv(x11)-47076 XA-GEO-(OPT.)-A |
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24,  Example(s) of non-conventional energy SO

(A) Solar energy

(B) Wind cnergy

(C) Bio-cnergy

(D)  All of thesc

- Td el €id & ICEW &

(.A] AR~
(B) WEHA-FHal -
(o1 ,ﬁa—wﬁ
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S) of noige pollution is/are

25 Major source

(A)  Motor vehicleg

(B) Industries
(C) Loudspeaker

(D)  All of these

SR Y F1 vy i 2
(A) Wi arg

(B)  3I&M

(C) T3sEdtax
JPap—

' 5
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Part-B

HIT-B

( Subjective Type )

(frwafsaw )

Section - A

@[S - A

( Very short answer type questions )

( 3tf vy St w9 )

Answer any seven questions.

. —

26. Define the term "Literacy".

/

/HTW’W#‘[&“T&T?I
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. yha.l do you undcrstand by "l‘l'anshumalﬂcc' ?
g FEE' W T FEEA @ 7

' ' . l¢1ire ?
28./ What type of crops are grown in Mediterranean agr jcultur

@Wﬁﬁﬁmmﬁwﬁmﬁﬁﬁ% ?
29. What is intcrnational trade ?

FRUE SR 1R 7

30. Name any Iron and Steel industry.

frdt T @rer 3R gerd I 1 AW FarR] |
31. What do you understand by National Highways ?

/ i
T T @ T §EEd 8 7

39 LPG stands for what ?

“gerdisht 1 QU &9 41 ?
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33. IWhat is meant by urbanization ?

'

Wéwm%?

34. Namc two branches of human geography.
qHE e i g sr@ren % am g |
Section - B

due - B

( Short answer type questions )

(oY ITHT 9 )

Answer any six qucstions. Answer thc qucstions in maximun

150 words each. 3x6=18

58 B: T % IW 3| TAB T HT I Alhan 150 vrsci § @)

35. Write three advantages of Rail transport.

/iawﬁasq%azﬂqm%f@ql
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36.  Suggest three important measurcs to control watclr pollutioﬂ-
1 S ) v 3 forg i gy e 9 g AR
37. Mention the main characteristics of India's forcign trade.
W%ﬁﬁﬁﬁwﬁmmaﬁaﬂmw |
38.

Write a note on groundwater resources in India.
YR 4 WM It FEue o ool forg |

39.  Describe the characteristics of agriculture in India.

’

I o iy B fdwaiatt @ avls it |

40. Explain natural factors responsible for various typcé of rural

settlements in India.

/Wﬁ%ﬁamémm%mmmmﬁ

SATEA HIRTT |
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41, Mention any three pull factors of migration.

/«"m%w‘cﬁqmmwaﬁ@ﬁl

42. Mention major characteristics of mixcd farming.
/
i #R A yy@ fmvaed w1 g+ |
Section - C
@ ug - C

( Long answer type questions )

(d Iwia v )

Answer any four questions. Answer the questions in maximuim

250 words each. 5x4 =20

Rl R Wl % I S| FAH ¥ HT IR AfuwHan 250 vl H <

43. Explain the important stratcgiés of agricultural development

followed in the post-independence period in India.
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44.  Explain the types of urban settlements in India.
WA H e afml  vewri ot i |

45.

Describe non-conventional sources of energy.
/ﬂ-qtmrrrm o el 1 e oo |

46.  Evaluate the contribution of Suez canal in global trade.

ﬁ'wwﬁ@aw%mwmﬁﬂ

47. How has noisc pollution emerged as a scrious problem in

recent years ? Explain.
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48.  Show the following in the given map of world :

(a) Pacific Ocean

(b) Pakistan

(c) Moscow

(d)  Srilanka

(e) Rajasthan

yed HER % WAt # efafad =t ﬁ@ﬁq 2

(a) WA HEETR
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